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1.4 123437 123437 0
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2.7y 107840] 107840 0
LA A 7] 107840 107840 0
3. a3kl 1097 1097 0
1. 0523 v 1097 1097 0
90319 119618  -29299
317, 5208 5350 -142
Rt} 830 880 0
1.4 Rk8-H] 880 880 0
A K 3894 3770 124

1. g8 3894 3770 124344048 FTY9 -228,000 -228000

271548 E 352,000 352000
At 434 700 -266

1. duk4=4n| 434 700 -266|HAETTY -266,000 -266000
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1. dREg8H] 14999 17500 -2501|5 A &5 2=FH] -86,000 -86000
FHEdFSE] -2,296,000 -2296000
FHagE21 -119,000 -119000
2. 7482 A8 0 0 0
3.3k 0 0 0
1.3hdd 0 0 0
1. 4HE8-H) 0 0 0
2. 7482 A8 0 0 0
3. 0] 0 0 0
4.8k 2537 3313 -776
1.AER 664 1240 -576
1.duk4=8H| 394 600 -206| A =591 -206,000 -206000
2.0]H] 270 640 S370[F SRS A= -240,000 -240000
WM EA T -130,000 -130000
2.3-A 3 1873 2073 -200
1. dRkg8-H] 0 200 -200| A 3+ 9 &% -200,000 -200000
2.3 A B2 H] 1873 1873 0
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2. 300 300 0
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1. 3670 3670 0
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78HA 970 1310 -340
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